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COMPLETION

1. ANS:

2. ANS

3. ANS:

is below the graph of v = f(x)

: Ply=A3/2,ye R}

x<2

ID:



SHORT ANSWER

1. ANS:
a) The graph of f(x) = «/? is shown in blue and the graph of g(x) = A/x—1 +2 is shown in red.
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b) The graph of f(x) = 1 «/; i is shown in blue and the graph of g(x) = lf\/x -1 l +2 is shown in red.
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2. ANS:
Substitute values into the general equation g(x) = d [b(x—h) +k .

a) g(x) =5~/x -6
b) g(x)=~6x -4

c)g(x):A/—(x—Z) +9

or

g(x)= Al-%42 49

g() =5 3

3. ANS:
a) y=—-~x+4 -3

b) y=2~lx-1+2



<. AIND:

a) i) The graph o

.

f f(x) = x is shown in blue and the graph of g(x) = ., | f(x) is shown in red.

ii) The graph of Jx)=x2

r;

—4 is shown in blue and the graph of g(x) = \/ f(x) is shown mn red.

1ii) The graph of J) =-0.5x +2 is shown in blue and the graph of 8(x) = A/ fix) is shown in red.

b)i) fx): {xlx € R}, {y € R}

8(x): {x|x>0,x e R} {y=0y ¢ R}
) fx): {x]x e RyLYy>-9ye R}

8(x): {xlx=>3,x< 3. xeR}L{ly=0, YER}



5. ANS:

.
[~ =~
p) Wz+aso=12 &) Restr

3/2x+4 =3

N2ae+d =1

2x+4=1



